FEB 2024

Our Next Meeting will be held on THURSDAY

MARCH 8, 2024 6:30pm

If you move, change addresses, change phone numbers, change email addresses or get an e-mail address and didn't have one or you drop your e-mail address, let us know, so we can forward the meeting minutes/newsletter to you.

You can contact Marty Kleier via e-

martykleier@gmail.com

or call him at 724-9565

You can contact Dave Ernst via email at:

davidalanernst@gmail.com

or call him at 502-836-3687

Inside this issue:

Officers' Reports

Chapter Rides

Sick & Injured Mem-

Good of the Order

New Business

Old Business

Door Prizes

Prayer - President Kleier

Call to Order/Pledge of Allegiance - President Kleier

Board Meeting Minutes — Emailed out to everyone on February 3, 2024.

Reading of Minutes of Last Meeting:- Motion to Dispense Motion by: Dave Ernst 2nd by: Mel Clark **Motion Passed**

Officer's Reports

PRESIDENT'S REPORT — N/A

VICE PRESIDENT'S REPORT — Ralph Dunn

- Regular Members 59
- Silver (Reg. Mbr.) ---_1
- Associate Members-4
- Honorary Members—8
- Tenured Honorary—-3

Special Honorary——1

Total: 73 Members

TREASURER'S REPORT — Rod Jordan

ASSETS:

Information Reserved for Members Information Reserved for Members Checking account balance: Petty Cash: Merchandise Inventory (Approx.): Information Reserved for Members

All checks cleared? Liabilities None

TRANSACTIONS (since last report): **Totals: Debits** Credits

Information Reserved for Members

Motion to accept: Rick Jackman 2nd by: Doug Harley

Motion Passed

New Business

- **Old Business** ⇒ John Bryant will be taking pictures at the meetings and on
- ⇒ Terry Stinnett is wanting to know if anyone would be interested in riding somewhere to view the eclipse Monday April 8, 2024?

rides and posting them on the Facebook page.

All ride sheets will be turned over to Doug Smith. He will collect them and let us know who attended the most rides at the end of the year.

Sick & Injured Members

Please keep all members and their families in your thoughts and prayers!

- ⇒ John Vickers is battling leukemia.
- Robin Schneider (Al's Wife) is still recovering from her broken elbow.
- Rick Jackman battling his cancer.
- Gary Newton still recovering from leg issues.
- Dave Ernst having medical issues.
- Karen Rose mother is in the hospital in Texas.

Good of the Order

- Renewals were sent in on January 31, 2024 to Internation-
- Chapter to make a decision on whether to move the meeting day and time. Members vote to keep on Thursday, but move to 7 PM
- ⇒ Charity C.O.P.S. Run: will check with Bluegrass Harley Davidson to see if we can start and end the run there.
- Picnic: will be at Broadrun Park, date and time will be announced at a later date.
- Board of Governor's Fund Raiser: We sent one hundred dollars to this fund raiser, it is for emergencies if needed on a sanctioned Blue Knights event.

Chapter Rides

This Months Rides N/A

Next Months Rides N/A

Door Prizes

50/50, The club split \$70 with Sonya Kleier, with \$35 going to each.

Birthday Wishes

The Chapter would like to wish everyone who celebrates their birthday in FEBRUARY a Happy Birthday!



Motion to Adjourn by: Doug Harley 2nd: Al Schneider

Motion Passed-Meeting Adjourned

KY VII Inventory List

Item Description	Size	Color	Unit Price	Quantity in Stock	Total
	Sho	ort-Sleeve T-Shirt	t		
T-shirt SS	Small	Navy	\$10.00	0	0
T-shirt SS	Small	White	\$10.00	0	0
T-shirt SS	Medium	Navy	\$10.00	0	0
T-shirt SS	Medium	White	\$10.00	0	0
T-shirt SS	Large	Navy	\$10.00	0	0
T-shirt SS	Large	White	\$10.00	0	0
T-shirt SS	XL	Navy	\$10.00	0	0
T-shirt SS	XL	White	\$10.00	0	0
T-shirt SS	2 XL	Navy	\$10.00	0	0
T-shirt SS	2 XL	White	\$10.00	6	\$60.00
T-shirt SS	3 XL	Navy	\$10.00	0	0
T-shirt SS	3 XL	White	\$10.00	7	\$70.00
	Lor	ng-Sleeve T-Shirt			
T-shirt LS	Small	Navy	\$10.00	0	0
T-shirt LS	Small	White	\$10.00	0	0
T-shirt LS	Medium	Navy	\$10.00	0	0
T-shirt LS	Medium	White	\$10.00	0	0
T-shirt LS	Large	Navy	\$10.00	0	0
T-shirt LS	Large	White	\$10.00	0	0
T-shirt LS	XL	Navy	\$10.00	0	0
T-shirt LS	XL	White	\$10.00	0	0
T-shirt LS	2 XL	Navy	\$10.00	0	0
T-shirt LS	2 XL	White	\$10.00	0	\$10.00
T-shirt LS	3 XL	Navy	\$10.00	0	0
T-shirt LS	3 XL	White	\$10.00	1	\$10.00

	Short-Sle	eve Performance	Shirt		
Performance SS	Large	Neon	\$15.00	0	0
Performance SS	Large	White	\$15.00	0	C
Performance SS	XL	Neon	\$15.00	0	C
Performance SS	XL	White	\$15.00	0	C
Performance SS	2 XL	Neon	\$15.00	1	\$15.00
Performance SS	2 XL	White	\$15.00	0	C
Performance SS	3 XL	Neon	\$15.00	0	C
Performance SS	3 XL	White	\$15.00	0	C
	Long-Slee	eve Performance	Shirt		
Performance LS	Large	Neon	\$15.00	0	C
Performance LS	Large	White	\$15.00	0	C
Performance LS	XL	Neon	\$15.00	0	C
Performance LS	XL	White	\$15.00	0	C
Performance LS	2 XL	Neon	\$15.00	4	\$60.00
Performance LS	2 XL	White	\$15.00	7	\$120.00
Performance LS	3 XL	Neon	\$15.00	2	\$30.00
Performance LS	3 XL	White	\$15.00	2	\$30.00
Ballcap	One Size	Navy	\$10.00	0	0.00
Challenge Coins			\$10.00	0	C
Challenge Coins - misprinted			\$5.00	0	C
Flag	Small	Black	\$10.00	0	\$0.00
Flag	Large	Black	\$13.00	1	\$13.00
Memorial Patches	Mike Johnson		0	???	C
Memorial Patches	Tattoo Charlie		0	???	C
Memorial Patches	Ed Hatcher		0	???	C
Memorial Patches	Jim Marksberry		0	???	C
Memorial Patches	Nick Rodman		0	???	C
Rocker Full Set	Full set includes LE/MC		\$77.00	9	\$693.00
Window Decals	One Size	White	\$3.00	???	????
			Total Items/Value	27	\$1,111.00